TABULATION SHEET FOR: BID#_SDOC-010-B-024 LC DATE/TIME:10-15-09 @ 2:00 PM MOVING SERVICES READ BY: RECORDED BY:	Armstrong Commercial 9550 ParkSouth Court Ste 250 Orlando, FL 32837	Beltmann Group 6917 Presidents Drive Orlando, FL 32809	Central Moving & Storage 7598 Currency Drive Orlando, FL 32809	Commercial Moving & Storage P.O. Box 5235 Tampa, FL 33675	Flood Brothers Inc. 6911 Parke East Blvd., Ste 300 Tampa, FL 33610	Graebel 6800 Kingspointe Pkwy Orlando, FL 32819	Suddath Van Lines 4850 L.B. McLeao Rd Orlando, FL 32811
		PRIMARY AWARD				ALTERNATE AWARD	
Drug Free Workplace Form	YES	YES	YES	YES	YES	YES	YES
Debarment Form	YES	YES	YES	YES	YES	YES	YES
Emergency/Storm Related Catastropher							
Agrrement	YES	YES	YES		YES	YES	YES
Conflict Of Interest Form	YES	YES	YES	YES	YES	YES	YES
References	YES	YES	YES	YES	YES	YES	YES
Hold Harmless Agreement	\/50		YES	YES	YES		
Confidentail Materials Form	YES						
Certified Business Program Reciprocity			YES		YES	YES	
Affidavit Insurance	YES	YES	YES	YES	YES	150	YES
Addendum #1	YES	YES	YES	YES	NO NO	YES	NO NO
PRICE SHEET	TLO	TLO	ILO	TLO	NO	TLO	INO
TRICE SHEET							
1. Moving services performed during regular hours, Monday through Friday, 8:00 AM to 4:30 PM. One box truck, (12'6" high and 24' Long). To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$480.00 8 hr day \$60.00/HR	\$513.40 64.19/HR	DID NOT USE CORRECT PRICE SHEET	\$518.50 \$64.81	DID NOT USE CORRECT PRICE SHEET
2. Moving services performed during non-regular hours, Monday through Friday, 4:30PM to 8:00 AM. One box truck, (12'6" high and 24' Long). To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$656.00 8 hr day \$82.00/HR	\$673.52 \$84.19/HR		\$535.50 \$66.94	

TABULATION SHEET FOR: BID# SDOC-010-B-024 LC DATE/TIME:10-15-09 @ 2:00 PM MOVING SERVICES READ BY: RECORDED BY:	Armstrong Commercial 9550 ParkSouth Court Ste 250 Orlando, FL 32837	Beltmann Group 6917 Presidents Drive Orlando, FL 32809	Central Moving & Storage 7598 Currency Drive Orlando, FL 32809	Commercial Moving & Storage P.O. Box 5235 Tampa, FL 33675	Flood Brothers Inc. 6911 Parke East Blvd., Ste 300 Tampa, FL 33610	Graebel 6800 Kingspointe Pkwy Orlando, FL 32819	Suddath Van Lines 4850 L.B. McLeao Rd Orlando, FL 32811
3. Moving services performed during non-regular hours, 4:30PM to 8:00 AM, all day Saturday and/or Sunday. One box truck, (12'6" high and 24' Long). To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$440.00 \$55.00/HR	\$656.00 8 hr day \$82.00/HR	\$673.52 \$84.19/HR		\$535.50 \$66.94	
4. Moving services performed during non-regular hours, 4:30PM to 8:00 AM, Holiday. One box truck, (12'6" high and 24' Long). To include one driver and one helper. 1/day	654.00 \$81.75/HR	\$440.00 \$55.00/HR	\$816.00 8 hr day \$102.00/HR	\$673.52 \$84.19/HR		\$535.50 \$66.94	
5. Moving services performed during regular hours, Monday through Friday, 8:00 AM to 4:30 PM. One tractor and 32' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$480.00 8 hr day \$60.00/HR	\$673.52 \$85.44/HR		\$518.50 \$64.81	
6. Moving services performed during non-regular hours, Monday through Friday, 4:30PM to 8:00 AM. One tractor and 32' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$656.00 8 hr day \$82.00/HR	\$843.52 \$105.44/HR		\$535.50 \$66.94	
7. Moving services performed during non-regular hours, all day Saturday and/or Sunday, 4:30PM to 8:00 AM. One tractor and 32' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$440.00 \$55.00/HR	\$656.00 8 hr day \$82.00/HR	\$843.52 \$105.44/HR		\$535.50 \$66.94	

TABULATION SHEET FOR: BID# SDOC-010-B-024 LC DATE/TIME:10-15-09 @ 2:00 PM MOVING SERVICES READ BY: RECORDED BY:	Armstrong Commercial 9550 ParkSouth Court Ste 250 Orlando, FL 32837	Beltmann Group 6917 Presidents Drive Orlando, FL 32809	Central Moving & Storage 7598 Currency Drive Orlando, FL 32809	Commercial Moving & Storage P.O. Box 5235 Tampa, FL 33675	Flood Brothers Inc. 6911 Parke East Blvd., Ste 300 Tampa, FL 33610	Graebel 6800 Kingspointe Pkwy Orlando, FL 32819	Suddath Van Lines 4850 L.B. McLeao Rd Orlando, FL 32811
8. Moving services performed during non-regular hours on Holiday, 4:30PM to 8:00 AM. One tractor and 32' trailer. To include one driver and one helper. 1/day	654.00 \$81.75/HR	\$440.00 \$55.00/HR	\$816.00 8 hr day \$102.00/HR	\$843.52 \$105.44/HR		\$535.50 \$66.94	
9. Moving services performed during regular hours, Monday through Friday, 8:00 AM to 4:30 PM. One tractor and 48' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$480.00 8 hr day \$60.00/HR	\$673.52 \$85.44/HR		\$518.50 \$64.81	
10. Moving services performed during non-regular hours, Monday through Friday, 4:30PM to 8:00 AM. One tractor and 48' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$656.00 8 hr day \$82.00/HR	\$843.52 \$105.44/HR		\$535.50 \$66.94	
11. Moving services performed during non-regular hours, Saturday and/or Sunday 4:30PM to 8:00 AM. One tractor and 48' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$440.00 \$55.00/HR	\$656.00 8 hr day \$82.00/HR	\$843.52 \$105.44/HR		\$535.50 \$66.94	
12. Moving services performed during non-regular hours, on Holiday 4:30PM to 8:00 AM. One tractor and 48' trailer. To include one driver and one helper. 1/day	654.00 \$81. 7 5/HR	\$440.00 \$55.00/HR	\$816.00 8 hr day \$102.00/HR	\$843.52 \$105.44/HR		\$535.50 \$66.94	
13. Moving services performed during regular hours, Monday through Friday, 8:00 AM to 4:30 PM. One tractor and 53' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$480.00 8 hr day \$60.00/HR	\$763.52 \$95.44/HR		\$518.50 \$64.81	

TABULATION SHEET FOR: BID# SDOC-010-B-024 LC DATE/TIME:10-15-09 @ 2:00 PM MOVING SERVICES READ BY: RECORDED BY:	Armstrong Commercial 9550 ParkSouth Court Ste 250 Orlando, FL 32837	Beltmann Group 6917 Presidents Drive Orlando, FL 32809	Central Moving & Storage 7598 Currency Drive Orlando, FL 32809	Commercial Moving & Storage P.O. Box 5235 Tampa, FL 33675	Flood Brothers Inc. 6911 Parke East Blvd., Ste 300 Tampa, FL 33610	Graebel 6800 Kingspointe Pkwy Orlando, FL 32819	Suddath Van Lines 4850 L.B. McLeao Rd Orlando, FL 32811
14. Moving services performed during non-regular hours, Monday through Friday, 4:30PM to 8:00 AM. One tractor and 53' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$376.00 \$47.00/HR	\$656.00 8 hr day \$82.00/HR	\$923,.52 \$115.44/HR		\$535.50 \$66.94	
15. Moving services performed during non-regular hours, Saturday and/or Sunday, 4:30PM to 8:00 AM. One tractor and 53' trailer. To include one driver and one helper. 1/day	\$569.50 \$71.19/HR	\$440.00 \$55.00/HR	\$656.00 8 hr day \$82.00/HR	\$923,.52 \$115.44/HR		\$535.50 \$66.94	
16. Moving services performed during non-regular hours, on Holiday, 4:30PM to 8:00 AM. One tractor and 53' trailer. To include one driver and one helper.	\$654.00 \$81.75/HR	\$440.00 \$55.00/HR	\$816.00 8 hr day \$102.00/HR	\$923,.52 \$115.44/HR		\$535.50 \$66.94	
17. Hourly rate per man, with no truck needed. Fifteen (15) minute increments	\$22.00	\$17.00	\$22.00	\$22.92		\$19.50	
Moving tote boxes, with specifications	Ф0.00	Φο 75	04.75	#0.05		Ф0.00	
18. 3 cubic feet tote box	\$2.00	\$0.75	\$1.75	\$2.35		\$0.98	
19. 4.5 cubic feet tote box 20. 6 cubic feet tote box	\$3.00 \$4.00	\$1.50 \$2.00	\$2.00 \$2.25	\$2.83 \$3.85		\$1.25 \$1.50	
21. 6.5 cubic feet tote box	\$4.00	\$2.00	N/A	\$3.85		\$1.68	
Supplies							
22. Sealing Tape 2" x 60 yards	\$1.50	\$0.90	\$0.95	\$1.86		\$0.75	
23. Identification labels to indicate office numbers, room numbers, customer name, department, division and other required information	\$0.00	No Charge	N/C	\$0.06		N/C	

TABULATION SHEET FOR: BID#_SDOC-010-B-024 LC DATE/TIME:10-15-09 @ 2:00 PM MOVING SERVICES READ BY: RECORDED BY:	Armstrong Commercial 9550 ParkSouth Court Ste 250 Orlando, FL 32837	Beltmann Group 6917 Presidents Drive Orlando, FL 32809	Central Moving & Storage 7598 Currency Drive Orlando, FL 32809	Commercial Moving & Storage P.O. Box 5235 Tampa, FL 33675	Flood Brothers Inc. 6911 Parke East Blvd., Ste 300 Tampa, FL 33610	Graebel 6800 Kingspointe Pkwy Orlando, FL 32819	Suddath Van Lines 4850 L.B. McLeao Rd Orlando, FL 32811
Storage							
24. Storage rate per day for air conditioned facilities. Per sq ft	N/A	N/A	.075/sq ft	\$0.16		\$0.75	
25. Storage rate per day for non air conditioned facilities. Per sq ft	\$0.03	\$0.40	.025/sq ft	\$0.12		\$0.48	
26. Exception:							